FA96 (Form 650019) 05-13

 Letting Date:
 May 19, 2015
 Contract ID:
 97-C097-122
 Bid Order No.:
 164

 County:
 WOODBURY
 Project Engineer:
 WOODBURY COUNTY ENGINEER
 DBE Commitment:
 \$0.00

 Cost Center:
 801000
 Object Code:
 860
 DBE Commitment:
 \$0.00

 Contract Work Type:
 HMA RESURFACING WITH MILLING
 DBE Commitment:
 \$0.00

 This agreement made and entered by and between the BOARD OF SUPERVISORS OF WOODBURY COUNTY,
 Image: County,
 Image: County,

CONTRACT

IOWA, CONTRACTING AUTHORITY, AND KNIFE RIVER CORPORATION D/B/A KNIFE RIVER MIDWEST LLC OF SIOUX CITY, IA, (KN036), CONTRACTOR

It is agreed that the notice and instructions to bidders, the proposal filed by the Contractor, the specifications, the plan, if any, for project(s) listed below, together with Contractor's performance bond, are made a part hereof and together with this instrument constitute the contract. This contract contains all of the terms and conditions agreed upon by the parties hereto. A true copy of said plan is now on file in the office of the Contracting Authority under date of 05/14/2015.

PROJECT:	FM-C097(122)55-97	COUNTY:	WOODBURY
WORK TYPE:	HMA RESURFACING WITH MILLING	ACCOUNTING ID:	32617
ROUTE:	150TH STREET	LENGTH (MILES):	4.23
LOCATION:	EMMETT AVE. NE COR. SEC.32-89-45 TO HWY 20	C	
NON-FEDERAL	. AID - PREDETERMINED WAGES ARE NOT IN EFFI	ECT	

The specifications consist of the <u>Standard Specifications for Highway and Bridge Construction</u>, <u>Series 2012</u> of the Iowa Department of Transportation plus the following Supplemental Specifications, Special Provisions, and addendums: GS-12006

Contractor, for and in considerations of \$997,421.34 payable as set forth in the specifications constituting a part of this contract, agrees to construct various items of work and/or provide various materials or supplies in accordance with the plans and specifications therefore, and in the locations designated in the Notice to Bidders.

Contractor certifies by signature on this contract, under pain of penalties for false certification, that the Contractor has complied with Iowa Code Section 452A.17(8) as amended, if applicable, and Iowa Code Section 91C.5 (Public Registration Number), if applicable.

In consideration of the foregoing, Contracting authority hereby agrees to pay the Contractor promptly and according to the requirements of the specifications the amounts set forth, subject to the conditions as set forth in the specifications.

It is further understood and agreed that the above work shall also be commenced or completed in accordance with Page 1B of this Contract and assigned Proposal Notes.

To accomplish the purpose herein expressed, the Contracting authority and Contractor have signed this and one other identical instrument.

For Federal-Aid contracts the Contractor certifies that each subcontract is evidenced in writing and that it contains all pertinent provisions and requirements of the contract.

Vice President / General Manager Ronald A. Hall Knife River Midwest, LLC. By Contractor Mark By Contracting Authority W. Iowa DOT Concurrence 103grow For Local Agency Contracts Concurrence Date

21

Letting Date:

Date: May 19, 2015 Contract ID: 97-C097-122

Bid Order No.: 164

It is further understood and agreed that the above work shall be commenced or completed in accordance with the following schedule:

SITE NUMBER	CONTINUED I DIGOD				LIQUIDATED DAMAGES
CONTRACT	LATE	START	DATE	08/24/2015 25 WORKING DAYS	\$1,200.00

CONTRACT NOTES

Ronald A. Hall Vice President / General Manager Knife River Midwest, LLC.

· Jund											
ţ.	Cor Prima	CONTRACT SCHEDULE OF PRICESPage: 2***********************************									
		 Item Number Item Description	l Qu	Item Jantity Nd Unit	Unit Price Dollars Cts						
	SECTI	SECTION 0001 ROADWAY ITEMS									
	0010			400.000	28.43000	11,372.00					
		2121-7425020 GRANULAR SHOULDERS, TYPE B	I I I TON	60.000	62.54000	3,752.40					
		2212-0475095 CLEANING AND PREPARATION OF BASE 	 MILE	4.200	3,727.35000	15,654.87					
		2212-5070310 PATCHES, FULL-DEPTH REPAIR 	 SY	806.600	66.51000	53,646.97					
		2212-5070330 PATCHES BY COUNT (REPAIR) 	 EACH		 71.63000 	1,719.12					
	0060	2214-5145150 PAVEMENT SCARIFICATION 	 SY	48,733.500	2.38000	 115,985.73					
		2303-0033500 HOT MIX ASPHALT MIXTURE (1,000, 000 ESAL), SURFACE COURSE, 1/2 IN. MIX, NO SPECIAL FRICTION REQUIREMENT	 TON 	6,301.000	67.71000	426,640.71					
	0080	2303-0246428 ASPHALT BINDER, PG 64-28 	 TON	378.000	 664.02000 	 250,999.56 					
		2303-6911000 HOT MIX ASPHALT PAVEMENT SAMPLES 	 LUMP		 LUMP 	 2,603.38 					
	0100	2401-6745650 REMOVAL OF EXISTING STRUCTURES 			 LUMP 	 11,370.00					

Line Item Number Quantity	Con Prima	Vendor No.: KN036 Ntract ID No.: 97-C097-122	Bio	**************************************		
12402-2720100 EXCAVATION, ICLASS 20, FOR ROADWAY IPIPE CULVERT 78.000 28.43000 2,217. 12416-0100024 APRONS, ICY ICY 1 1 2,217. 1201 CONCRETE, 24 IN. DIA. 6.000 1,421.25000 8,527. 12416-1180024 CULVERT, ICY 1 1 1 1 1201 CONCRETE ROADWAY PIPE, I2416-1180024 CULVERT, I24 IN. DIA. 1 108.02000 13,178. 124 IN. DIA. IF 1 1 1 1 12518-6910000 SAFETY 1 1 1 1 1 12527-9263109 PAINTED 1 1 1 1 3,642. 12527-9263109 PAINTED 1 1 1 3,642. 12527-9263109 PAINTED 1 1 1 3,642. 12528-8445110 TRAFFIC 1 1 1 4,548. 12528-8445110 TRAFFIC 1 1 1 4,548. 12528-8445113 FLAGGERS 1 1 1 1 12528-8445113 FLAGGERS 1 1 1 1 1 12528-8445115 PILOT CARS 23.000 515.00000 15,			Quantity			
0110 CLASS 20, FOR ROADWAY 78.000 28.43000 2,217. PTPE CULVERT CY 1 2,217. 0120 CONCRETE, 24 IN. DIA. 1,421.25000 8,527. 1 1,421.25000 8,527. 120 CONCRETE ROADWAY PIPE, 122.000 108.02000 13,178. 12416-1180024 CULVERT, 13,178. 12416-1180024 CULVERT, 13,178. 12416-1180024 CULVERT, 13,178. 12416-1180024 CULVERT, 13,178. 12417 IAA 13,178. 12518-6910000 SAFETY 13,178. 12527-9263109 PAINTED 10100 152528-8445110 TRAFFIC	No	Item Description	and Unit	Dollars Cts	Dollars Cts	
0120 CONCRETE, 24 IN. DIA. 6.000 1,421.25000 8,527. EACH 1 1 1 1 0130 CONCRETE ROADWAY PIPE, 122.000 108.02000 13,178. 24 IN. DIA. LF 1 1 1 1 0140 CLOSURE 122.000 113.7000 2,501. EACH 1 1 0140 CLOSURE 22.000 113.7000 2,501. EACH 1 1 0150 PAVEMENT MARKING, 320.330 11.37000 3,642. 0150 PAVEMENT MARKING, 320.330 11.37000 3,642. 0160 CONTROL LUMP 4,548. <		CLASS 20, FOR ROADWAY	78.000	 28.43000 	2,217.54	
0130 CONCRETE ROADWAY PIPE, 24 IN. DIA. 122.000 108.02000 13,178. 124 IN. DIA. LF 1 1 0140 CLOSURE 22.000 113.70000 2,501. 1 EACH 1 13.0000 2,501. 1 EACH 113.70000 2,501. 1 EACH 13.0000 2,501. 1 EACH 2,501. 1 EACH 0150 PAVEMENT MARKING, SOLVENT-BASED 320.330 11.37000 3,642. SOLVENT-BASED 0160 CONTROL STA 12528-8445113 FLAGGERS 0170 12528-8445113 FLAGGERS <td></td> <td></td> <td></td> <td> 1,421.25000 </td> <td>8,527.50</td>				 1,421.25000 	8,527.50	
0140 CLOSURE 22.000 113.70000 2,501. EACH 1 1 2,501. 0150 PAVEMENT MARKING, 320.330 11.37000 3,642. WATERBORNE OR STA 1 0150 PAVEMENT MARKING, STA WATERBORNE OR STA 0160 CONTROL LUMP LUMP 4,548. 0160 CONTROL LUMP 4,548. 0170 46.000 345.00000 15,870. 1,845. 0180 1,845. 0160 <t< td=""><td>0130</td><td> CONCRETE ROADWAY PIPE,</td><td>1 122.000</td><td></td><td>13,178.44</td></t<>	0130	CONCRETE ROADWAY PIPE,	1 122.000		13,178.44	
0150 PAVEMENT MARKING, 320.330 11.37000 3,642. WATERBORNE OR ISTA I I I I ISOLVENT-BASED ISTA I I I I I 0160 CONTROL ILUMP ILUMP 4,548. I				 113.70000 	2,501.40	
0160 CONTROL LUMP LUMP 4,548. 2528-8445113 FLAGGERS 46.000 345.00000 15,870. 2528-8445115 PILOT CARS 46.000 515.00000 15,870. 2528-8445115 PILOT CARS 1 1,845. 23.000 515.00000 11,845. 2533-4980005 1 1	0150	PAVEMENT MARKING, WATERBORNE OR	•	 11.37000 	3,642.15	
0170 46.000 345.00000 15,870. EACH 345.00000 15,870. 2528-8445115 PILOT CARS 10180 23.000 515.00000 11,845. EACH	0160		 LUMP 		4,548.00	
0180 23.000 515.00000 11,845. EACH 2533-4980005	0170	2528-8445113 FLAGGERS 		 345.00000 	15,870.00	
	0180	2528-8445115 PILOT CARS 		 515.00000 	11,845.00	
	0190		 LUMP 	LUMP	41,346.57	
TOTAL BID 997,421.		TOTAL BID			997,421.34	